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A 1

A ik |
WEZEH FLUEAE BT 4H 5H 6H TH 8H 9H 10H 11H 12H 14 2H 3H
EE = 5/9 | 5/23 6/6 7/4 8/1 9/5 10/3 | 11/7 | 12/5 1/9 2/6 3/6
WwER = 5/24 | 6/10 7/1 8/1 9/9 10/4 | 10/29 [ 11/29 | 1/6 1/20 | 3/19 | 3/31
IKRFAA PR SE 5.8~8.6 | pH 8.1 8.2 8.1 8.1 8.2 8.2 8.5 3 8.3 8.3 8.5 8.4
P HIRSE TR B 60 mg/ 0 <0.5 <0.5 2.3 <0.5 <0.5 3.6 1.3 <0.5 <0.5 <0.5 <0.5 <0.5
LSRR R BoR 90 mg/0 |<0.1 2.1 2.6 3.0 2.0 1.6 2.0 2.5 1.8 1.8 1.7 1.9
T bE) L R 60 mg/0 2.5 1.4 <ol <rof <o <o <1o] <01 <0.1 <0.1 <10 <10
ERGAE 120(R T T7460) mg/0 3.8 3.9 5.5 6.9 2.3 4.2 2.0 6.9 2.8 2.7 2.6 3.8
EE = = = = = = = - 10/3 - - - - -
s A - - - - = = = = 10/29 | - = = = =
TIVE VKL AW sz mg/0 - - - - - — <0.0003 - - - - -
FUEE~ ==/L(PCB) 0.003 mg/0 - - - - - - [<o0.0005] - - - - -
D =1=s % 0.2 mg/0 - - - - - - <0.002 - - - - -
PUEAL R S 0.02 mg/ 0 - - - - - - [<o0.0002] - - - - -
L,2-Yrunxiy 0.04 mg/0 - - - - - - [<0.0004] - - - - -
1Y ZuaxzF Lo 1 mg/0 - - - - - - <0.002 - - - - -
1,1,1-F)Zaa=xr 3 mg/0 - - - - - - [<o0.0005] - - - - -
1,1,2-FN)Zan=xr 0.06 mg/0 - - - - - - [<o0.0006] - - - - -
NZaa=FL 0.3 mg/0 - - - - - - <0.002 - - - - -
Fro/aaTFLy 0.1 mg/0 - - - - - - [<o0.0005] - - - - -
1,3-YZ7unru~ 0.02 mg/0 - - - - - - [<0.0002] - - - - -
1,4-A %% 0.5 mg/0 - - - - - - <0.005 - - - - -
e 0.1 mg/0 - - - - - - <0.001 - - - - -
FT I 0.06 mg/0 - - - - - - [<o0.0006] - - - - -
D% 0.03 mg/0 - - - - - - [<0.0003] - - - - -
FARUANT 0.2 mg/0 - - - - - - <0.002 - - - - -
ToEZT TvEZIMEA Y.
TR K ORI A 200 | me/0 - ) ) ) ) ) ) ) ) - ) -
HKER K OV L LK ERF D
KSR A 0.005 | me/C | - - - - - - - - - - - -
FRIY LR DAY 0.1 mg/ 0 - - - - - - - - - - - -
RO DL 0.1 mg/0 [ - - - - - - - - - - - -
AL ED 1 mg/ 0 - - - - - - - - - - - -
Az e t&% 0.5 mg/0 - - - - - - - - - - - -
K O DAY 0.1 mg/ 0 - - - - - - - - - - - -
ST ACE D 1 mg/0 - - - - - - - - - E - E
AL 2-TraaT I L 0.4 mg/0 - - - - - - - - - E - E
L BEOZOLED 0.1 mg/0 | - - - - - - - - - - - -
B RLOZDOEEY 10 mg/0 [ - - - - - - - - - - - -
SoRBOLDEED) 8 mg/0 | - - - - - - - - - - - -
Ik AR (B ) 5 mg/0 - - - - - - - - - - - -
)V s Rl R T (B A AR ) 3 mg/0 - - - - - - - - - - - -
T ) — B A 5 mg/0 | - - - - - - - - - - - -
GRS 3 mg/ 0 - - - - - - - - - - - -
LA 7 2 mg/0 | - - - - - - - - - - - -
TRFRIESK A 10 mg/ 0 - - - - - - - - - - - -
VR TE~ > 77 2 Tk 10 mg/0 | - - - - - - - - - - - -
VY E 2 mg/0 - - - - - - - - - E - E
PN 3000 {E/mo - - - - - - - - - - - -
B b 10 [petee] - - - - - - - - - - - -
RO E BRI RS AL C BT e OV IR E R E T TH1: <0.01 0.0 5]




B 2

I A () |
HEHE FEUEfE BT 1A 5H 6H 7H 8H 9H 10H 11H 12H 1A 2H 3H
FEHCH = = 5/9 5/23 6/6 7/4 8/1 9/5 10/3 | 11/7 | 12/5 1/9 2/6 3/6
WA = = 5/24 | 6/10 7/1 8/1 9/9 10/4 | 10/29 [ 11/29 | 1/6 1/20 | 3/19 | 3/31
R R - mS/m 4 3.7 4.3 5.0 4.5 5 4.0 5.3 3.4 5.6 5.6 6.6
A4 - mg/ 1.5 1.3 1.2 1.9 0.9 1.1 0.9 1.2 0.7 3.3 7.9] 15.0
B - - - - E = = - [0/ - - - - -
WA = = = = = - - - 10/29 - - - - -
FIRIT L 0.01 mg/0 - - - - - - ]<o0.0003] - - - - -
BTV wtiEnsoce] mg/o - - - - - - <0.1 - - - - -
5 0.01 mg/0 - - - - - - <0.005 - - - - -
AT = 2 0.05 mg/0 - - - - - - <0.01 - - - - -
(3 0.01 mg/0 - - - - - - <0.005 - - - - -
UK ER 0.0005 mg/0 - - - - - - [<o0.0005] - - - - -
T VxR L KER mshanze mg/0 - - - - - - <0.0005 - - - - -
JunTI Lo 0.002 mg/0 - - - - - - ]<o.0002] - - - - -
AU ke~ ==/L(PCB) mitsnenze mg/0 - - - - - - <0.0005 - - - - -
TUauirs 0.02 mg/0 - - - - - - <0.002 - - - - -
IERAES 0.002 mg/0 - - - - - - [<0.0002] - - - - -
1,2-Yronx i 0.004 mg/0 - - - - - - [<0.0004] - - - - -
I 0.1 mg/0 - - - - - - <0.002 - - - - -
P 0.04 mg/0 - - - - - - <0.004 - - - - -
1,1,1-R)7aaxs 1 mg/0 - - - - - - [<0.0005] - - - - -
1,1,2-F)7aa=xy 0.006 mg/0 - - - - - - [<o0.0006] - - - - -
NZmrTFL 0.03 mg/0 - - - - - - <0.002 - - - - -
S A 0.01 mg/0 - - - - - - [<0.0005] - - - - -
1,3->7aara~y 0.002 mg/0 - - - - - - [<0.0002] - - - - -
1,4-F %4 0.05 mg/0 - - - - - - <0.005 - - - - -
P 0.01 mg/0 - - - - - - <0.001 - - - - -
FIT N 0.006 mg/0 - - - - - - [<o0.0006] - - - - -
P 0.003 mg/0 - - - - - - [<0.0003] - - - - -
FARUTINT 0.02 mg/0 - - - - - - <0.002 - - - - -
L 0.01 mg/0 - - - - - - <0.002 - - - - -
S 8 mg/0 - - - - - - <0.2 - - - - -
EPES 10 mg/0 - - - - - - <0.2 - - - - -
TUEZT . TvEZTMEA Y.
T 2 OV L 2 12001 me/l ) - - - - - A - - - -
ET ORI R RS C B I U C IR ma R LE T, 1]: <0.01—0.0LKH]
(A HTK (T ) |
WEEH FLYE(E HAfL 4H 5H 6H TH 8H 9H 104 114 12H 14 2H 3H
EE = = 5/9 5/23 6/6 7/4 8/1 9/5 10/3 | 11/7 | 12/5 1/9 2/6 3/6
WA = = 5/24 | 6/10 7/1 8/1 9/9 10/4 | 10/29 | 11/29 | 1/6 1/20 | 3/19 | 3/31
EREER - mS/m 3.3 3.6 4 5 4.5 5 4 5.3 3.3 4.1 5.2 6.5
St AA - mg/ () 3.3 1.2 1.4 2 0.9 1.1 1 1.2 0.7 3.1 8 15
P H = = = - - - - 10/3 - - - - -
WA = = = - - - - - 10/29 - - - - -
TIRIT I 0.01 mg/0 - - - - - - [<0.0003] - - - - -
BTV ftEhaoze] mg/0 - - = = - . 20.1 - - - - -
#h 0.01 mg/0 - - - - - - <0.005 - - - - -
=N 0.05 mg/0 - - - - - - <0.01 - - - - -
e 0.01 mg/0 - - - - - - <0.005 - - - - -
KR 0.0005 | mg/0 - - - - - - [<0.0005] - - - - -
TV L IKER mtshznze mg/0 - - - - - - <0.0005 - - - - -
JanaTF Lo 0.002 mg/0 - - - - - - [<0.0002] - - - - -
RV 7==/L(PCB) __ |#ilishavce| mg/0 - - - - - - [<0.0005] - - - - -
DUanAg 0.02 mg/0 - - - - - - <0.002 - - - - -
EER:ES 0.002 | mg/0 - - - - - - [<0.0002] - - - - -
1,2-Y7anxi 0.004 mg/0 - - - - - - [<o0.0004] - - - - -
1,1-Y7aaxFL 0.1 mg/0 - - - - - - <0.002 - - - - -
P 0.04 mg/0 - - - - - - <0.004 - - - - -
1,1,1-N)Zaa=xm 1 mg/0 - - - - - - [<0.0005] - - - - -
1,1,2-RN)Zaa=xx 0.006 mg/0 - - - - - - [<o0.0006] - - - - -
N e 0.03 mg/0 - - - - - - <0.002 - - - - -
FhFraaTFL L 0.01 mg/0 - - - - - - [<0.0005] - - - - -
1,3-Y7anru~r 0.002 mg/0 - - - - - - [<o0.0002] - - - - -
1,4-AF P 0.05 mg/0 - - - - - - <0.005 - - - - -
By 0.01 mg/0 - - - - - - <0.001 - - - - -
F TN 0.006 mg/0 - - - - - - [<0.0005] - - - - -
D 0.003 mg/0 - - - - - - [<o0.0003] - - - - -
FARUTINT 0.02 mg/0 - - - - - - <0.002 - - - - -
Ly 0.01 mg/0 - - - - - - <0.002 - - - - -
EES 8 mg/0 - - - - - - <0.2 - - - - -
ESES 10 mg/ 0 - - - - - - <0.2 - - - - -
TvE=T, TvE=yMEE Y. .
T R B, OV L 12001 me/b ) - - - - - R - - - -




